Friday 5™ February- Word problems

1. There are 10 children in a class. They need to split into 2 equal
groups. How many children are in each group?

2. Miss Lewis is sorting out her paper clips. She has 15 paper clips
and 3 jars. How many paper clips are in each jar?

Answer:
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3. If there are 3 haskets with 3 apples in each basket, how many
apples are there altogether?

Answer:

4. Miss Waterull puts hooks into piles of 10. She had 3 piles. How

many hooks does she have altogether?

Draw a picture to- show how you would work out the answer...




